MTH 264, Quiz #11, Summer 2022

Instructions: Work the problems below as directed. Show all work. Clearly mark your final answers. Use
exact values unless the problem specifically directs you to round. Simplify as much as possible. Partial
credit is possible, but solutions without work will not receive full credit.

1. Find the Taylor Polynomial for the function at the indicated value of ¢. Use the tables provided.

f(x) = e

, ¢=0, n=5 (Maclaurin polynomial)
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2. Using the attached table of Power Functions, find the power function for the given functions

and integrate the first 3 terms.

f(x)=2sinx®
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* The convergence at x = %1 depends on the value of k.



